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Q86. Organizations should reduce their investment in a product when the product&#8217;s: (choose the best answer)

*  Current Value is very high

*  Current Value is very low

*  Unrealized Value is very large.

*  Unrealized Value is very small.

*  None of the above

Q87. What is an effective Product Vision? (choose the best answer)

*  It is approved by all stakeholders.

*  None of the above

*  It inspires the people who deliver the product.

*  All of the above

*  It forms a contract with the business.
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Q88. Which of the following is true for the Current Value &#8211; Key Value Area in Evidence Based Management from

Scrum.org? Choose the best answer

*  It expresses the organization&#8217;s ability to quickly deliver new capabilities, services, or products

*  It expresses the ability of a product development organization to deliver new capabilities that might better meet customer needs

*  It reveals the value that the product delivers to customers, today

*  It suggests the potential future value that could be realized if the organization could perfectly meet the needs of all potential

customers

Q89. What can be measures of internal value? (choose all that apply)

*  Customer or user satisfaction gap

*  Time spent context-switching

*  Employee Satisfaction

*  On-Product Index

*  Cycle Time

Q90. What is the value of a Product Owner having a clear and inspiring Product vision? (choose the best three answers)

*  It provides a direction and purpose for the product.

*  It makes it easier to inspect progress

*  It ensures that the Scrum Team is committed to deliver all of the Product Backlog items.

*  It is not defined in Scrum and therefore optional.

*  It provides a focus when making decisions

Q91. What questions would an organization ask in order to evaluate Current Value? (choose all that apply)

*  How happy are your employees? Is their happiness improving or declining?

*  How happy are users and customers today? Is their happiness improving or declining?

*  What prevents customers or users from benefiting from that innovation?

*  How fast can you deliver new value to customers?

*  How happy are your investors and other stakeholders? Is their happiness improving or declining?

Q92. Experimentation can help a Product Owner to: (select all that apply)

*  Reduce waste

*  Understand the Product/Market fit and business viability of a product.

*  Make decisions on whether to invest and build something.

*  Have complete certainty as to the future success of a product.

Q93. Which statement best describes the Sprint Review? Choose the best answer

*  An opportunity to inspect the outcome of the Sprint and determine future adaptations

*  A demonstration of functionality completed in the Sprint

*  An inspection of the work completed by the Developers in the Sprint

Q94. Conducting small experiments to validate concepts with customers provides valuable insights into the potential value of

proposed solutions. However, the financial department at ABC company feels that the experiments are not cost-effective.

What is the appropriate response to the finance department? (choose the best answer)

*  Experiments are only required in very limited circumstances as reviews by stakeholders can often achieve the same or better

results.

*  Experiments should not be run on products that are already launched because experiments are only effective for new products.

*  Proposed solutions are likely to succeed as they are based on market research.

*  It is more cost-effective to allocate a small sum of money to validate a solution than to create a solution that does not meet the

customer&#8217;s actual needs.
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Q95. Conduct an experiment could help the Product Owner to : (select ALL that apply)

*  Make precise decision on investment

*  Understand if a product&#8217;s product/market fit and business viability

*  Have full certainty as to a product&#8217;s potential success.

*  Reduce waste

Q96. The Product Owner has the final say on if an Increment is Done. Choose the best answer

*  True

*  False

Q97. Which statement best describes the Sprint Review? (choose the best answer)

*  An opportunity for the Product Owner to evaluate the results of the Developers.

*  An inspection of all of the work done in the Sprint by the Developers.

*  A demonstration of functionality completed in the Sprint.

*  An opportunity to Inspect the Increment and adapt the Product Backlog.

Q98. Management has asked you for advice on which product to fund. Each product is focusing on different markets. Given the

following information: -Product A is the main driver of both revenue and profit for your company. -Product A has very happy

customers (high Current Value) and low Unrealized Value. &#8211; Product B is relatively new. -Product B has low Current Value

and high Unrealized Value. Both Product Owners of the two products are requesting significant additional funding to improve their

products.

What funding advise would you give management? (choose the best answer)

*  Split funding equally between both products

*  Split funding proportionally based on product revenues.

*  Invest funding in Product B because it has more future potential for the company.

*  Invest funding in Product A because your company&#8217;s success depends on its continued success

Q99. Which of the following statements are valid when scaling the Product Owner role? (choose all that apply)

*  Large Product efforts require multiple Product Owners.

*  The Product Owner role can be scaled by delegating responsibilities to the Developers.

*  There is only one Product Backlog for each Product

*  Each Product has a Product Owner

Q100. Team Tigers completed 40 &#8220;points&#8221; of work in two weeks. Team Lions completed 20 &#8220;points&#8221;

of work in one week.

Which team delivered more value? (choose the best answer)

*  The amount of work completed is a measure of effort, not the delivered value.

*  Team Tigers, since they finished more units of work.

Q101. Your organization requires all Increments to pass user acceptance testing (UAT) before it is allowed to be released to

production.

Is it a good idea to postpone UAT until the end of the project to prevent the Developers from being disrupted during the Sprints?

(choose the best answer)

*  Yes, because UAT is done in a hardening Sprint before the release Sprint.

*  No, because the state of the Product Increment won&#8217;t be transparent and the feedback loop would be too long.

*  It depends on the team&#8217;s Definition of Done.
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*  Yes, because the Developers is a self-organizing team and should not be disrupted during development.

Q102. As an investor or shareholder, which of the following measures might give you insight about whether a product is delivering

value? (Choose all that apply)

*  The average selling price as compared to close competitors

*  Revenue per Employee

*  The weekly velocity of the Developers

*  Market Share

*  Product profitability

Q103. Which Key Value Area best measures market potential?

*  Unrealized Value

*  Current Value

*  Time-to-market

*  Ability to Innovate
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